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oncos tdt— Zjoxsin tdt=[sint]; - 2[-cost]} = sin x+2cosx—2

f(x)=sinx+2cosx-2 & L C, 0<x<%6:j‘5b\f\ f(X) >0 Y L TIE LW,
f'(x)=cosx—2sinx  f"(x) =-sin x—2cosx

0<x<%6::§5b\f\ sinx>0, cosx>0 THHME, f'(X)<0THY . f'(x) ILHMHLTH D,

£(0)=1>0, f'(%):g—\/_z—g<0i@\ 0<x<%6:%b\1\ () =0 & 72 B HE x A, 1272 1 STEET 5,

IDOxxwa LTHE, f(X) ODHEBITZAEDED, .
X 0 o -
X=a CHIRERDME, 0<x<ZIZBNT, f(X)>0 4
4 f/(x) + 1 0 | -
f (%) S .

THHEDITIE, F(0) =0 f(%)iO“(“&)h&fib‘o

£(0)=0. f(%j=%+\/§—2=3\/§2_4>0“6‘3?)575‘6\ 0<x<%0:%b\f\ f(X) >0 ASHRAT.
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